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Practise: Angles and Parallel Lines

/ X
In this diagram, w

e the diagonal lincisa /

e  and _ areequal because they are opposite angles (X pattern)

e  and _ areequal because they are corresponding angles (F pattern)

e  and __ areequal because they are alternate angles (Z péttern)

° and add to ° because they are co-interior angles (C pattern)

Find the measure of each angle marked with a letter in these diagrams.
List the angle relationship for each calculation.

a)
a= Reason:
o ' h= Reason:
600 a - eaSOIl.
b) A '
709\ C c= Reason:
40°
d= Reason:
— d e
/0 |
e= Reason:
c) \
f Y5° f= Reason:
v g= ' Reason: ]
h
\ h= Reason:
T
® = Roosov
_ \‘j = R.ecAaSorvy '

_Z' - -.QQ_QSom



1

-b
1)

2 a=130°

b= 0°

" b) c="70°

d= 10°

e = 110°

Recy <o

Recycar
- Reaornso.n
Reangov
Repcan:
Reaian
ReonSan .
Rarmyea
<) £= 105" &) x= 83°
3 = -75'3 = Ci-]’
- h=75° ‘j = 97°
ol 5 109 ° = 5o
) =109° _F) r:::: Bo?*
=109° P = 130°



